
OX

1. ~o t = 0 K*$F"O=+ii.Y v0 Gt>e}K*NrGAe2k#

(1) 3N*N,O=+ib5 zK~#7?H-N.Y vr v0"OeN>BR"O=K*1kEOC.Y

gG=o;#"7"u$Nq3O5k9k#

(2) 3N*N, z = ∞^G~#G-k?aNG.N v0 NM ve NMraah#"7" g = 9.8m/s2
"

R = 6.4× 106mH9k# (ve rOeEO+iN&P.YH$&#)

(3) v0 = ve NlgK zr tNXtH7Faah#

(4) (3) Gaa? zr tKD$FN Taylor 8+N 3 !N‘^Gaa"=N*}*U#rRYh#

2. E_7F$k0Bex$fr+),n<9k#+)N=LKO"1L~V&1L=LQ"?jAL

σNex$,Ue9k#

(1) +)O1LNQv?jNAL, ρNlMJeG"kH7"~o t = 0 K*1k>Br a0 H9kH~

o tK*1k>B aO" a = a0 + kt" ("7 k = σ/ρ) G?(ilk3Hr(;#

(2) +)Hex$NON?0LQ=HOQNX80+i"~o tK*1k+)NLV ~r = (x, y, z) N~

?9y,}x0raah#"7"t>e}r z4N5}~H9k#

(3) ~o t = 0 K*1k+)N.Y ~v0 = (u, 0, w)"LV ~r0 = (0, 0, h) H7F"~o tK*1k+)N

.Y ~v = (vx, vy, vz)"LV ~r = (x, y, z) raah#

3. Sjd<INdjrM(k#"7"Sjd<IeO>B a"ALM NlMJeG"kH7"Sj

d<IeHSjd<IfNVKO"Sjd<Ie,jklgKOg-5 µ′Mg(µ′O0‘$8t) Nq3

,//,"jiJ$lgKOq3,/+J$bNH9k#

(1) Sjd<IeN7-b<asH I , I = 2
5Ma2

G?(ilk3Hr(;#

(2) ~o t = 0 K*$F"E_7?Sjd<IeNE4r^‘t>LbK*$F"Sjd<If+iN

b5 hN@re?}~K-e<GM-"VV*KOQ J rC(k#OQrC(?>eNSjd<I

eN.Y v0 HQ.Y ω0 raah#

(3) =NeN~o tK*1kSjd<IeN.Y vHQ.Y ωraa"Sjd<Ie,INh&K?0

9k+b@;h#

1


